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PART A: Vocabulary

*'-
Directions: Choose the word or phrase. (1), (2), (3), or (4) that best completes each

| sentence. Then mark the correct choice on your answer sheet.

D — F—

1- It is not possible for human beings to ---——--- precisely the time of death.
1) elicit 2) enumerate 3) invoke 4) pinpoint
2- Educational standards are --—-—--- vear by year because of a lack of funds.
1) preceding 2) overlapping 3) degenerating 4) restricting
3- Your success is @ ---------- to all your hard work.
1) testimony 2) partnership 3) requisite 4) compliment
4- Statistical -——------- can make it difficult to compare data from one year to the next.
1) versions 2) anomalies 3) simulations 4) proportions
5- These chemicals are -----—-— to the environment.
1) exhaustive 2) contrastive 3) detrimental 4) forthcoming
6- After doing this project, we will —-- a new project later this year.
1) bear on 2) break up 3) stand out 4) embark on
7- The soil in this part of the world is not rich enough te -—-- a large population.
1} survive 2) sustain 3) suspend 4) submit
8- He felt that graduating from the university was a real --—-----—-- in his life.
1) enormity 2) milestone 3) caherence 4) orientation
9- They purchased a(n) —----- - 0f 3,000 shares in the company.
1) welfare 2) revenue 3) aggregate 4) quantification
10- Do you think that these higher-than-average temperatures are ---------- to global warming?
1) attribulable '2) expansive 3) convertible 4} substitutional

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Thenmark the correct choice on your answer sheel.

Are some people bom clever and others born stupid? Ov is intelligence developed by our
environment and our experience? (11) -———--—--- , the answer to both of these questions is yes. To
some extent, our intelligence is given us at birth, and (12} ---------- special education can make a
genius (13) ---=mza--- a child born with low intelligence. On the other hand, a child who hives in a
boring environment will develop his intelligence (14) ---------- gne who lives in rich and varied
surroundings. Thus, the limits of a person’s intelligence are fixed at birth, but (15) ---------- he
reaches these limits will depend on his environment. This view, now held by most experts, can he
supported in a number of ways.

11- 1) Too strange 2) Too strangely 3) Strangely enough  4) Strange enough

12- 1) no amount of 2) amount of no 3) there is amount of no 4) there is not amount of
13- 1) to be 2yout of 3).of 4)in order to be

14- 1)if 2) 5o that 3) rather than 4} less than

15- 1) whether 2) what 3) how long 4} as soon as

M}&MQL&US}GM}'@“)UQEW"}L"@P?
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IPART C: Reading Cumprehensiu

| Directions: Read the following three passages and choose the best choice (1), (2), (3), or |
|(#). Then mark it on your answer shee.

Passagel:

Systems used in critical applications such as health, commerce, transportation, utilities,
and national security must be highly reliable. Ubiquitous use of computing systems and
other electronic systems in these critical areas requires that computing systems have high
reliability. High reliability is achieved by designing the systems to be fault-tolerant. Even
though the high reliability requirements of computing systems gave the original impetus
to the study of the design of fault tolerant systems, trends in manufacturing of VLSI
circuits and systems are also requiring the use of fault-tolerant design methods to achieve
high yields from manufacturing plants. This'is due to the fact that with reduced feature
sizes of VLSI circuit designs, and shortcomings of lithographic techniques used in
fabrication, the characteristics of the manufactured devices are becoming unpredictable.
Additionally, small sizes of devices make them susceptible to radiation induced failures
causing run time errors. Thus it may be necessary to use fault tolerance techniques even
in systems that are used in non-critical applications such as consumer electronics.

What was the primary motive that led to the advent of fault tolerant systems?

1) The high reliability requirements of computing systems

2) The need to achieve high yields from manufacturing plants

3) The unpredictability of characteristics of the manufactured devices

4) Ubiquitous use of computing systems and other electronic systems in trivial applications

Which of the following phrases is meant by the passage?

1) The manufacturers finally give in to the demands for fault tolerant systems.

2) Considerable dependability is.a must in digital systems with critical applications.

1) Manufacturers resist introducing fault tolerance in the implementation of VLS circuits

4) It is yet unpredictable if the manufacturers will yield to implement fault tolerant reduced sized
VLS| circuits.

Which one of the following statements is false?

1) The reason for devices to be susceptible to radiation is their small sizes.

2) The use of fault-tolerent. design methods will also result in achieving high yields from

manufacturing plants.

3) One of the methods to achieve high reliability is to design the systems to be fault-tolerent.

4) The reason for computing systems to have high reliability is their use in critical areas such as
health, commerce, national security, etc.

MMQL&US}QM}‘@HL&)UQ‘GW"}‘O'@PT
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Passage 2:

At times,the CPU is referred to as the '"hrain' of the computer and this is not without justification.
CPU stands for Central Processing Unit and it is argued amongst many people weather or not this is
the most important part of the computer, therefore the one you should dedicate the lion's share of
your budget to. Regardless of whether or not it is the most important part of the PC it is still one of the
most significant pieces of hardware inside the case. According to Joe Kraynak (Author of Using and
Upgrading PC's) 'You can apply your savings on the processor to more memory or @ faster hard drive.’
Basically speaking that means if you buy a slightly slower processor then you can make the rest of the
system better, my personal opinion would probably be to agree with.this statement, however he goes
on to add 'because most hardware manufacturers and software developers design their preducts for
Intel processors, sticking with a Pentium processor minimizes compatibility issues.' Intel Pentium
Processors are commonly the most expensive CPU's,

The CPU is, like the computer Motherboard, a very important part of any computer system
because the computer will not move faster than what the speed of the processor, however that is not
to say that by merely buying a new CPU, you may not able to speed up the computer. This is a common
mistake made by users who don't see the computer as a 'whole’ and rather look at it as its different
components. The CPU works in direct harmony (in theory) with all other parts of the system .One last
thing I have to add about the CPU is this, if the motherboard has a slow BUS speed then the impact of
a new processor will be greatly reduced.

19- The best topic for this passage would be:
1) Intel Pentium CPU processors
2) The role of CPU in a computer system
3) Impact of Motherboard on CPU performances
4) CPU and Motherboard: Two Important parts of a computer systems
20- According to Mr. Kraynak:
1) You can apply your savings on the processor to increase the memory or a slightly slower hard
drive.
2) You can apply your saving on the processor to buy a cheaper memory or a faster hard drive to
make the rest of the system better.
3) You should save money on buying a less expensive brands and slightly slower processors 10
make the rest of the system better.
4) You should save money on buying a slightly slower processor to make the rest of the system
better, however, you should buy the more expensive processors made Intel.
21- Which one of the following statements is false?
1) Both CPU and the Motherboard are very significant in any computer system.
2) The main reason to buy a Pentium progessor is to reduce the compatibility related problems.
3) A new CPU would speed up the computer, however one should avoid buying an expensive one.
4) According to the author, one should see the computer as a complete package rather than different
components,
22- What does the statement; “the one you should dedicate the lion’s share of your budget to™,
means:
1y You should dedicate your budget to buy the shares of a company named “lion™.
2) You should allocate most of your budget to spend on the CPU for your new computer.
3) CPU is as strongas a lion in a computer system and you should buy the most advanced one for
your computer.
4) The impact of CPU in a computer system is like the impact of a lion in a jungle, s0 you should
allocate most of your budget to buy the most advanced one.
23- What does the author mean by: “the CPU works in direct harmony (in theory) with all other
parts of the system™?
1} CPUy in theory, acts in agreement with all other parts of the system
2) CPU, in theory, works according to the parts of the system:
3) CPU, in theory, has the same frequency as all other parts of the system.
4) CPU, in theory, has the direct frequency impact on all the parts of the system.
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24- What would be the impact of a slow BUS?
1) It has a great impact on the CPU performance.
2) Its impact on the CPU is greatly reduced.
3) Its impact on the Motherboard is greatly reduced.

4) It has a great impact on both CPU and the Motherboard performances.
Passage 3:

Credit cards have changed the way'in which we handie otr money. Today, your cash_savings can be simply a
series of numbers slored in the bank's computer. In.the United States, over thirty billion checks are used each year to
transfer approximately eight trillion dollars from one group or individual to another. The cost of processing these checks
is more than -five billion dollars a year for the bank fees alone. Because of this, a new system has been developed
using a computer network to replace much of the check and cash handling. This network allows funds to be transferred
directly from one bank account to another via the electronic funds transfer system (EFTS). Some people call this
development the "cashless society”. It simply means that it will be a society with fewer checks and less cash being
used to buy things. Checks take about two to five days to process. The EFTS 'system allows funds to process within

seconds using computers. The system also allows quick reporting on consumer spending habits for Governments
making connected policies.

It is also much easier and safer for the individual to carry a card ‘around. instead of large amounts of cash. The
EFTS purchase is easy. Imagine that you go shopping at the mall and need to buy groceries from the supermarket and
clothes from a boutique. You go into the supermarket, select your items and take them to the checkout person who
would scan the goods through with an electric scanner. Each item is automatically identified by the barcode and the
cost will come up on the register. You decide to pay by EFTS and give the shop assistant your bank card, who then
swipes it through a terminal. You enter the account you are transferring the funds from (savings, check or credit), and
enter your personal identification number (PIN) into the EFTS teminal. The bank code on the card dials your account
number checks if you have enough money and then transfers those funds into the supemarket's account. The shop you
are buying your clothes from doesn't have EFTS terminals, so you decide to take exira one hundred dollars cash out of
your account. You may just do that using the same system. There are many advantages of EFTS. It reduces the
amount of cash people must carry- possibly avoiding robbery and loss. It also reduces the amount of cash that shops
must keep in their registers. All this would not be possible without computers.

25- The cost of processing over thirty billion checks is:
1) At most five billion dollars a vear. 2) About five billion dollars a year.
3) Exactly five billion dollars a year. 4) At least five billion dollars a year.
26- According to the article, what was the reason behind developing EFTS?
1) High cost of processing bank checks
2) Let credit cards handle people’s money
3) To make the “cashless society” possible
4) To reduce the processing time of the bank checks
27- What does the “cashless sociefy” means?
1) The society without using cash in all their transactions
2) The society, without'using cash but using checks for market transaction
3) The society with.fewer checks and less cash being transferred to the banks
4) The society with fewer checks and less cash being used for market transaction
28- Which of the followings are not among the advantages of using EFTS?
1) Reduces the amount of money needed for the prosessing of bank checks.
2) Reduces the amount of time needed to process the checks, otherwise.
3) Reduces the profit of shops due to the reduction of cash in their registers.
4) Reduces the amount.of cash people.must carry, avoiding possible robbery and loss.
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29- How supermarkets identify the price of items at the check out?
1) They identify the price of goods by standing checkout persons who check on price tags.
2) They identify the prices of goods by allowing the checkout persons asking the customer for the
prices.
3) They allow the checkout persons to attach a barcodes on the items to be used for automatic
identification of the prices.
4) They scan items using an electric scanner which allows the automatic identification of the price
by the barcode.
30- Which one of the following statements is true?
1) EFTS system allows funds to process within seconds using computer, however, it takes two to
five days to transfer the money to its destination.
2) EFTS system allows funds to process within seconds, using computers. However, It does not
allow quick reporting on consumer spending habits for Governments making connected policies.
3} It 1s still possible to use EFTS to buy clothes from shops that don’t have EFTS terminals. All the
customer has to do is to ask another store with terminals to withdraw money from the customers
bank account.
4) It is still possible to use EFTS to buy clothes from shops that don’t have EFTS terminals.

However, it does not allow reporting on consumer spending habits for Governments making
connected policies.



R R R R R ;"p',;.w} __-,,";r',xv).'.pi.y( z -,w.',.'.;-,'.*_-f:'-- o] ,-;.,‘ AW G .',.v'w" - e
b A A S S o P 5 IS 5 A S S e Sl S
B b b ch i o . o T
-..w-wmﬁws“*nw.w-..1.h:ﬂ:t:fﬂ:ﬁﬂﬂ::Rﬂ'ﬁ::t'{E{Eﬂﬁ{'ﬂ%@ﬂ"“‘“‘“‘"""“'"""‘ A

AR R R R R
A b S S e 0
Lt B o D S S G
R
Ll g
RRNRRN; s o
EE#E{; ¥ n'J'L""' L it Al oo il Cllas el Filal JELHS A

¥

daasr (8] gmatse o lal
4574 S JEL, e 24344
AYINIYS bl it ) AAASAY
SIS Sl il TN

255 el e Dlajles

e R

&

i
o
o e e

e e e i

s
A R b ol

AT e

LA
i
2
o

o
7
2
o

%)
e )
SR e
o
SiSEt
bR il

Ll a * ;- 1' N
o : b gdadl
R Sv959 0%) R
e ‘h‘h‘l-‘h‘h"l-:

R

. L)
R 19 dawgnlh Wi of bl |5 (ol S
R & o Mﬁ ool 3 Gﬂ J G e }5; S44idad
5}
3 YRR
i 1 f A A h Saadand
1433394

]

el
e

vy
o
%
o

o
v

A
o
oo
i
7

~

}'}'{"d’ff
o e

77

2

7

7,

e
7
ik

e
2
v
i
ok

4
Z
7
o

% Pamoll qwage 45 godne
* (1YYY o5) j R

e e . - — 2
e g e e R T = i

e
A b b
v
-
v

5
L,
%
E

o
v
?

X A

L P o e e L P Sy T A s B L e e e TR PRI B e iR e i
R G s S "E’«.-Ei A
A H&%}%.%Mu %é,;'«jg}}}:-m A

3] FruEey

-
.,
Sl

i
Y
ey
Tty
Y

T4
TRE

£
ey
F i
o
E g
vve

ata
ey ey iy B -t TR T o e e T e A ey LT T s p e v o
S A P S S B T e e e

e L L LT RE N L N L Ll e

Sl 8 e g 33 o loial 3lge ylgar A
0 jhow 8 ke 3l Sl 3loas leaal alga whydy

" - . e Cldxe Wl g gl o eaige olaly) ol Rl

; : - ’

i [ glpilazil
dgetle g Ll aphis dsealy plaila) I pide | aasi |y

(ol il o lome o e sl

o,
Z

A

o
AR
7

Eﬁﬁﬁﬁ%ﬂ
e

i o

s

A

oo
5%
L

o
i
; ;
o

WAY Jloole yogo e

el gl e Dls it 51 ealazal B

e

-l"-l"-l"-l"-l"d"-l"'

5
[
K,

F 5

o e




& P . e o oo 6~ T -
W o 3| il )5 9031 (ki colw g 0 it LSl

e lol—se<y<K go<x<L gl—ma__ab ;o f(X,¥) plas ailfyo i ds yud (& pss

@ o
Tl plaf e <Y < 30 <X <T 5l (X, ¥) = XYy U ailf o 4 0d ﬁH.Zth“ sin[?jsir{m

n=1 m=\ K )
o o 'f- ; ; =+ = 4]
ZZ-:Tmsm[nx}sm{my} (Y sz::;j-sin(nx]sin{m}f} (1
n=h m= Mel e
AN nm . . e T
zzrf—sminx}sm[mﬂ (f Zzn—m— sin{nx)sin{my) (¢
n=1 M=l ey pne=j
Toged Jor bp puiie gjlaslir gy 31 0olinl b o)lgf oo 1y Jouidl pls s S olaa 1 S0 plas
Y Y
I. ztf =4 g}: + Fx
Y
| LS R
ot ar" rér
it b LS alilas g0 5l plaS s (Y it o L alolas g0 e ()
g B g o o BB IT aales (F sl e WG I gy o = BB ] adolas (¥
1) e d b felalas
-fil\E—m"'fjE tegX<T, t>0
ﬂt axr 7 3

3 AL e Ojle U(X, 1) g 5 J55 00 puf g0 Hhii galg 0, (0, 8) =0 4 UL (T, 1) =0 cu(X,0) = F(X) tlulnd b

iheall  gulps B

= £} [= &}
FLﬁ P | o, i,
T+ZE“E 201 cos(nx)Ax ZE“E "M lginnx
n=1 n=
o -+
A XY LR
2 +ZE”E .0 ! cos(nmx) (f ZE,,E B0 sinnmx (v
Y
L] n=1

4 : \ X
Joaed (W=0410V) W gamiw o Sxiapldd o W =— :.:B;m{:=x+iy}.:u;i.,smﬁy=? bas

Z
‘-‘J,.n:ru.n
|
v=+—u (v V=-Yu (\
1
\
y=-——1u (T v=<+TU (¥
Y
. | . R Yz+\ : " o
{Tl;f;-d-”? £lad 4y Col slopls C | ixia) Tl alus r T _ﬂthlm,_]:l,h!z.ﬂq
' =1z +Fz
C
TRL (Y e (4
n F n :
— (v +71) (¥ —{r—vi) o
o Vo

nd g0 Sl g 40 o 51 bl )I5 MBS g JLS1 o ST

=T

-¥Y

=TT

-re

-Th



T dmis (ITYYaS) oY lezal g slol

Vitelow b 5o a5yl Jlaze 09 g0 435w wgare gk sy P (ilo )15 adyf b 1 Carles dw p0 50 G351 S 50 0aiS 9
(sl 3l Lo crlas (2 50 Slaudgi shasd ) Foul plaf gl a5l wogune joba dulgi

ve ' (¥ e re™' (v e

ol ool Joud Jlaial aif o 3l gejl 4o 28 ool aF T yge 30 el 15 0 038 o8 20 alasoal aey] S 0 g0,8 aSil Jlazsl
o303l 30 Wlgi go 4 098 phalas 358 1 o el 1T 2 g0 ol 30 9130 ol Jgud il b cn plds LS &y Cual LD O
Tl e 3o i ﬂpﬂﬁ U Jloisl 3l Jaud

\oo (% Fo

r e (Y Yo (}
PardazeshPuby; N N N
@ v
f(x) = x"e
r(r).e"
3y Sy ol 5
T X
— (F —(r L
X ¥
Gamail B pa 35 o L35l LT B ol diged s @97 ol 3 P( TE X =0 auf )
ol 390 ol Canibyo B JBln b Culige ) i Nas 1 gaiS e 0y 1y H H""% Jilie o H ='E=%
Tplad Jol goi (gllas jloia &oyg0
T'
—_ (F E i (r uk ()
1# A A A
o303 ALl gl ai e jlsisl Xy g X, Goliai digai 3 el £( e x>0,0>0 aus 5y

H :0=Y Ja o H_ :0=1
‘-{(K..,L;}I |x, +x¢[>K} O
':'.:r"-:-"'u'{':x'.:xtjl | x,+x, <K} ¢

3, H’h'{{x\:xr}i X, + Xy <K}
3; 4l ={(X,,Xy) i X+ Xy }

0

PardazeshPub.com

M}MQ’uus’éﬁ)‘wu)“OhW‘S)b‘uﬁ?T

-y

-YA

-Y4



o o o yf b )8 ar}w 9 $und pamo (ITYYas)
PardazeshPub.com * \
i
g
.
PardazeshPub.com

M}MGQ“U,)O“)'W@)“Q‘GW")‘O'@?I




.\&)‘ wu)lf gso}TMGQL» -9 fM}“m

T {ITYYLS) gooe Olowlos
Y =% X
iompile g0 4 LU s (Bgy a1y e (ol sl gpie A=Y T T |0l
Y =¥ =i
Iy = = Vouy Uy
L=lly Ly = |4Us= 1 Uy
Tey dyy e )
Cailll go ) grolise ol Legig Iyy o By polls 0aiS g0 4520
Y Y
E,._=r,3”=-; AL L_,zr,-i“-F y ey =0 0
¥ ' A
I\'IZT.T"IT'I"=; 5 fﬂ=T{f l!-|1.=r:.£-rf=? ¥ f‘i'r=“T (v

3 : d
rlams 0y 31 X =0 LA 0 1) ol piys atolas Llga ol 0ud 0313 5 50 —&—}r— = — X" QLR Volee Ny Jlodke i
X

Tl 55283 0ad 0310 wilgs plad Sl ol 55 u el s 4 1wl oo alolas ke wlaa s 51 eolizal b o (milne)

5 = e T o |F o | }f=‘|.l’::.r"|fr{'|.
=VAIYF (Y

¥y |V MTIAR AWERAY  AYYYVY b J {
y =Y/ o\FF (T

y=Y/Tre (F

S = Py Py N X =0LVF o, alT lade el 0l 0dls ) 50 o palih B Jgu 3 Y = F(X) @b polie
T -Iﬂﬁ#n.‘ﬂﬁ Illllf-l.:-;;w:l' }-A.:.:I st s

- fix) A AT A" y=ofYo¥e ()
AT o \YFY :‘.l'r=°"'f1'1'“|' o
“Ieary ¥ =o/YYFY (¥
oY ¢/fYef ' oo opy },=u;”ﬁ, (F
o [eFAF PR L |
o /14 e ITYAA -ofoope
/o ¥YF ofo ol
o /Ty o IYYYY -eofoo¥q
oYl
o [YY o [TFY

PAX =D g oo 3 15 5 ¥ slee olfaws

—F T e =1k
A= v ¥| , b=
Y= ¥ 9 - A

,usqm.nimaqbulﬁ,l‘,s:_,t”agluq.qj“w.: X=|o| adyl jlafa b1y e85 55155 fiay ol fes bl )28 5l o
[+]

=/ —ofap —-of9%0 —aof b
R ¥ (¥ x=]1/A Ay x=[\/Y (v Xx=|1/48 €y
SL-TAT ATA 1 -\ ¥ -i/a

Sl X=Xy + Xy A8 feal Gleud 031 zuie Sxe b pd) S LSS Xy =VAIVEFE § X, SYPIVAYF sue g0
LTOW T TR PP PR E A
F (T T (T Y (Y ¥ ()

=¥

—FY

=

--F¥

-Fb



b amive g I 5> (WYYVas)

PardazeshPub.com ‘:\
2p

-“\"

PardazeshPub.com

s g0 el 39 40 iyl il ) MDY g JLS1 9 ST



O ol (il )5 (990 3T (el Colw g Siumd puo
$ amiuo (VYA i glaglezslu

ohisi s alei Dy U1y i o sl ol 315 1510308, 155,81y G = (V,E) Jolf o2 g2 g 9 318
feut plas G 4G slaJu

RILBHLL S, 350w

=1 |i::'! =y = j=) e

n & n n P. nooi=t n_n P. P.
PRI R L S e, ’ZZ(;][;} «
i=\ i=1 11]:} = =) iy et

s pzn Uva 138 Glaie o JYoal padd LA penlys o0
{(pAg)vr , q>(rvs) ,~p—=>q}|pvs
Tabd go oLid ) o9 peinali ol (PalaE,S) (sarly sloeyly &4 oo b3l phas
(aous! False gles F y True 35,0 oles T)
(F,T.F,F)( T (T, T, F, T % E LT, T, Y0
Tl oo 4z ¥ 20z » ™ ooas i silensl
& (f ¥ LA o
Jot e S (9 pad) 3,5 ole alayly b ol e 39 g0 03ls uled Dy, Laf T1o s sbitulepguia polod 42 goce &5 puils g0
Tal plaf #1 Eadc 53 Jilas ela o o dlaad aoel
Y (f W r A (Y v ()
Al Wl gezr Jools o5 golasl 51 S b & Wignaz) WSl (Sude gamne) Wignai k (8 41 slajlpél shaws P(0,Kk) s 559

i,k ez¥) fouil oo P(0,K) 3580 30 (2850 alaly plaS (uiugf 291

P(n,k)=P(n-12,k-2)+P(n-k,k) x P(n,k)=P(n-k,k)+P(n-1vk) (v
P(n,k)=P(n-k,k-1)+P(n—%k) (¢ P(n,k)=P(n-k,k-V\)+P(n-1vk-1) ¢

-FF

-FY

=FA

~¥4



o f wl&&)b’ Qp}TMG«gLﬁ -9 fé«ﬁ;imo

(ITYYaS)

Pty P

B e Ui Pl i

R bR EE R R TR
2 ngzizzannnﬁzh;=;ﬁﬁ§=i#i§§§§ﬁ§§

o EEEEER LB R R LR
CHEEEHEE R R P R

11524 3.7

EHE R B H RS
R FE LR EEREHS

.00
Qosos
15898
1M
2,700 13240
I1469
JRI57
44017
50047
15207
L |
59076
75641
axoy
8]

FAE ]

=ELE

mm

o050
12390
14485
10479
pE 30 F
1o534
15703
&0
3229
64077
16317
e ]

BI9T1

| Toias

995 | S0 | 575 | 550 | 050 A28
ol
03518

4E5
o4ll | 05543 | omniz

00001
Lolo | ouoaal
aaTl | odles
TETS
L4 | s

059
a4
44

L1335
£03
b7

e

074
4500
S497
26
B440
7411
o3l

Ll el B

dfia

--------- ====:=!====H=n;n:=;ng
-

tﬁﬂ;uﬁjﬂJﬂh

005
9925
4.604
4002
3499
3348
iz
Jond
ul:.
:_-m
ml
Lli'l
861

1.3
F L]

819

1807
LT

A48

4301

304 | 1271 | J1A2 | 6046
33 | a2 | 450 | dsa
S | 24T | Aad § AMT
1y
1%
1131
LT | Lidy

A5 A28 | .01
2032 | 17 | wma
2358
3508

A3 | raeT

1013 | 23571 | 3345
T2
Tl
Tl
T3¥
T
T
T

L729
TL5
Til
Iy
Tid
T
0
i
0
Ml

-y == == e s g L e e 4

P = = S e e oew omm ommom P S Dl L Dl DR L B gl

H517
ANTE
T4
B30
A830
5015
s
BTOk
936
581
P

T
R

A9

S339
S04 | 518
A10N | ESl4)
SRIT | HEIT
Saka | 9asy
SEAT | Sa%

S0
el | Rl
RS | s

S480
Al
1507 0
T | e
Hi0E | B3N]3
2388 | saee
2359
A58
2937
Js | $9
W | M
2980
e | 3
P90
Pt

T

Bib

S0 | 8951 | e9E2
962 | Sead | 9hed

S90S

A48
A0
A0
5192
HERd
oy
5830
S
e
ol
SRl

S40d | P4IE | 2P| B

I3 | TSR | R0
Trad
BTE

SRS | JFRES

SRS
Sa0)
L)
SRl
SRi 1
F0E9
L

ST | ST

B1015 | SN0 | 9147 | Bi62 | 8|77

JIM | T | .
H023 | B0
A53) | 8454 | A8TT

i
S04
S
S
Sl
S

L]

Aid4 | EIn9 | A3ES
A7 | KM | BT
SR | 9B | DBk
bde | S¥00 | 0
PEIT | TR | w70 | M

FUER | SPud

TS
B30%

E ]

L]

Sond | 5004
sl |

SERl | SRl | R | S | SRl
S | SeRa | SR

a4 | PETI | SETR
5937 | 5

ekl
JT0E
i
a4l
Sadd
54977
0983 | F9E4
i

BaTd | DaB4 | SwDS | 9505 | 515 | 0515 | 9415
SR | S9R5 | 92T | SEID | SREE | 592 | w4

o
334 | JTIST | TaER | a2 | PS4
BESY | ASO7 | E92S | G4 | ESGD
F3rd | 384 | 9150 | S263 | sube

g4 | JTETN | .TT0m

AR | TRET

Adi) | S4mS
SE98 | SRl

T
DE5E

A2

WP = P

¥

Pic4 | G573 | S4AY | S48 | 8359 | Se0m | pale | 25 | AN
STI9 | 9726 | S7R1 | STIE | 94 | 970 | STHE | T80 | 9TET

a5 | 9257 | 9370 | $382

FTH | S783 | S8

w941
56

967

§

. Sl
7

w91 | 5991
S

9940 | -
Uil 7
5993 | -

L il -—

Q463

Fi9s
S0

S
207

el | Sus4 | PEE | SET1 | 0TS | SaTe | emal

T
T8
s
258 | mies
BALD | MR
ALY | mGis

BHF | 3289

6554 | &30
G315 | 4
1157

7580

Tk

2133

Sail

Fid

R L]

218

AT
d | SE21 | SEDE | 9EI0 | SEM

eS| D995 | 605 | 9996 | B9RE | 900d | S9RE | R
£

A | Rl | T | sl | AT

[=F ]
=1

L R e L e i

a




A adie (YY) Wosls plassblo

ol plad T(n) = ?T[a?“] +log' n 22850 gakuly Ll

@(log" nloglogn) (f ®(log’ n) ¢r @(leg" n) E'{n'g] 0
el 0l 8303 1 as
AV AA]=Ye 14 YA Y 4 F W Y F A F Y Yo WY MEL T &
lo ata] 33 nend o pae0 43 Iz dal] &5 255 g0 53 louler alasi planil b g aBo o puaiti K & 1; Ali] o i85 Change (ik) Jos
ipatd o plail o i |y Jos T (0]
Change (11, 16) Change (2, 4)
Tawli oz la(SWap) ol-als sloal £oeme
# (¥ o (v (¥ ¥
ol plail O(lgn) g4 3o 5 paic 0 L max-heapsy jo glof eai ly pj Jlas! jl Suplas
sat o2ly paze G JBis (Y s S b paie S 28 ()
sl 83l e Sy adi Jlads ol (T oot oal3 peaie o5l oS jlads  ZalS (T
o8 e Jilh g 0,00 0y95 M soihuil 4y B b e jlss oy JU oSy g puif plisl g 50 1y Mg U, 5pe LUK rablys o
o3I &y (T gl wailyi g0 S Sy U1 )0 Ry g Bl Sy 51 il 4l oa b Cullo aRleS 3595, D= Zk B; sejlail 4

=1
e 1y i Tyl B il 45 Ly b (i i (g 4ad U D et g3 (5958 20 53 L ity [y oD Sy 510595, T
: gl a5 B sl )0 b pallsis peily
bl didls Cud b el K+ sl gl dlible 45 7y 50 Tomall diz Lot gl nligh 5 olaad g LS sly (yailys J5 Sland

n o kIng| . n| SGar
= e Ew : cyadly (T . e m obei g Gl (1

k I .. . k HL_ o
E,i JOH] =1 1) e 0 58 g il (F el B R e P T

Pl o 3l 215 gl g0 42l 0 8 M b 4T WDl Sig09d sl o olasi by 51

3 e v (Yo "
b, :;b*"*"n-k (f [n “ II:-,I (r b, =;1H+_1(n ] Al b, € ") 0

i=4

toudlo anles I ghes 4z P E gD Slo jlam ol 1=Y pinas 4 30 s B-Tree &y pj oo
a (\
WY
Yo
(Y

1y € dal,T padlad gn ol M < B [t 51,55 padBLae L Gpie M 430,150 B gusylySi e shael b g 2 41 S A
3,18 3l giled 4 18 ot 512 witpoSl arhs el AR o 151 5 gei 3 A1 00 319 o] 53 B g A, claae! 45 preiler 550
(m+n)log(m +n) ol (¥ mlogm+nlogn+m+n gl ()

(m+n)logm ;L;(f (m+n)logn ;¥

MNQNUg)éM}‘@H“)UQ&W"}L"&PT

-&1

~-&Y

-aY

-oF

-0b

~&F



Wi 5 (il )15 90 3T (et ol g fcund piawnd
(IYYVSS) bgyutle g gyl &,k

G asden

S8l by wasii @ Ly gLy Ly g paato L1 R 5bj 51 aidgphe pj i UGy 9 Gy (G sloply® g R plide oyl

Tl prasus o)l plad il 95 de
R =((aa|b)*b)*a

G,:S—>bS|aA|aC G;:S—=bSj|aA|aC G;:S—=>bS[Aa|C
A —»alS A—Sa A —alS
C—oe C—g C—oa

Ly#=L, ,L=Lj=Lyt Ly+#L ,L=L;=Lg Lyelgale=L, (¥ L=Ey=L,=L;
wihsgrie Ly g Lgilg Ly ot slagl
L, =L{a%)
L, =L((a+b)*)
Ly ={we(a+b)*| adbzyiw slab shasi }
Ly ={we(a+b)*|.aibsp ol gloa olasi g z9; W slab oluss }
ol clle ¥ 2500 b (PDA) glacty oadle glaion oU3 T o2l 5l obs 952 sl
4 (¥ 3 2 (¥ 1 ()
Sl grasnas o158 IS 00y g il 0 b1y o) 8T b Wo 9 W gladadsy wasliga Ly ol 5 3 pasef o0 B0 101, G ol
G:85—>aSD|bB
D—dS|a
B — bB|E
w, =a"ba"bdb"d
wy=a"b'a"d
w;eL,wyel (¢ wyeLl,w el (r wy,Wa gL (v wip,wa L O
i Slagil d(M) paimes M =(Q,Qg, Z,Q-F,8) 155 0wyl sy s clagl 3 M =(Q,Qq 22, Fy8) 1
My g My sbol; gleasl ol gbj &5 col alae clagil My + Mg aisl alizs clegil 9o My 3 My 510g sales M Jolee
faro p) Oyle alaS s My g My slopbidolan waif 4 gl ol & bl ghie pal)f 99 Gy 9 Gy 4 28 Coul

Pl
L(Gy) - L(G;) = L(d(d(M) + My)) L(G))-L(Gy) =L(M; +M,;) 0
L(Gy) - L(G,) = L(d(M,)+d(My)) (f L(Gy) ~ L(G3) = L(d(M;) +d(My)) cr

2 M el o (50 d Gl aiidy S5 W gy, 5f oadle Ky a8 M ol 10 &5 ol <M, W 00 slazy) oled aegame L ol
Pl g o § oz 31 S phaf 09 ool LiBgie W 5099

FOETY SN A

el oy 23l yale s L (o

i S L (g

s |l T3l yobe 4 L (2

sz (Y o Al gl (Y -

M}MQL&U,)OM}‘W&?}UQ&W"}L"@P?

-BA

-F



oyl (Wl U 590 3T (anadts Colw 0 g S puno
Vo dxieo (AYYYaS) lappadila g gl & 00

Sy sl g0 JI laails cuatle By Sl cdle Qp papd Sl G, ol 90 &F cal Bapie ) o Sl UM S0 98 padle -FT
Xlya ey Podle 4ol asl jls gay2 e Jls o o g q clo 0 M 5145 el o1 8(g,8) = (P, X, R) 1 ke .o
3G, o ) M £90 50 51 (og)00 ey a2 olST aL LR (sl 4 51 3100 Canely ) &il5 S (gohail a1y joo 9 03,5 oge
Tl plaf jlyi sgama § o8 yo 11 udo 51 g wl a0abbb ezt ply sy syama (ilgi 595 59979 Shail 3o po

8(qq,a) =(q;, X, R)

5(qy,2) =(q;,a,R)

PardazeshPulram _:

8(q,,X)=(q,,X,R)
8(q9,B)=(gr,B,R)
8(qy,Y)=(q;,Y,R)
6(q;,Y)=(q;,Y,L)

6I:“Il B)=(gs,
AXXYYY (f XXaYbb (v

XaaYYb O

PardazeshPub.com

M}ﬁwQLHU,)OM)‘@“)“Q&W‘,)L"@?T



O ol (il )5 (990 3T (wnadii ol g s o
N dxda (ATYYAS) ke slojlow

Essential Prime Implicant 4 Prime Implicant sos iy oo f(a,b,e,d) = Z m (¥,¥,A,3,17) + d (Y,#,1),1F) als 2
?aJla Say

Yy¥ (T V¥ (T ¥ o0 (Y Vg B ()

e P 4) o g o dlidle gl lade LUT 8 0 5 cosl 5395 o2 58500 5 A 59939 w0300 ol |, LUT 33 5, 4 9yl
il i de W oy (Yo

LJTI
P g a
T =y T =
2 5 1: 5 L'Ll]":t W—ljl-bkm (
J 350 019 w=ij+ik+1 (¥
PR q4: a8 | A LI o ==
P » e w=1]+ik +Im (v
£\ B b SLE i 1
T 1\ sy - W =ij+ik+Im (¥
L e il
CAO
T:

(atlge QrQQ, obol 1 ohast aled) Tasl digf az & ijled e Jolf Reset 51 s vy e 5o

i L _ﬂ
D @ ] (1" Q = 1Y @

R ? 3 %5 _"?E?s
: l i,___q, IJ' L“t 'I.—-"‘—j I pol—»Yle el —rcece ool ()
HH*F# sej—peole el —oce ool (¥
iuti ooo—pool=—bllo—po))—»oco (T

f - oo =pool—2olo—ol)—pooo (f

oaigy opmls 4 31 g F gsel A gEnable B g Enable A 55 clabhs wilb B =01 g A=) adyl Glssme i jlae yo
ez pg0 W 5l g B g A Sligime aiila go yho Ras [T byks (Sl wiile e S5 CLK sum ad U g wigd oo 53 CLK

Sy daalys
A= B=oo ()
A=oo B=1y(y

Enmj:. F 2]

" Enq
ﬂﬂ-—l—p—-? ﬁ H—_*\'L E:\n ﬂ'
A=coo B=c= (¥
s
B

M}MQL&U,)OM}‘WL&)UQ&W"}L"@P?

~F¥

-Fb

-FY



wi—"ui.n-

(IYYYaS) dbie gla e

Tadl oo da W o295 ap moli oud anllis “x" bl sle fos j0 08l 0 0aua PALS 51 Logic Block g3 4 4 45 jlae 2

w =Dbc+cd+ac
w=ac+ab+bed+1 (v
w=ac4ab+btd+bd (v

w = ab + bed + ad + bd ¢

T
7-01 - i =L
R ¥
8 *
- A
-
ET = !
- I._ - - i
o s e B
|
F l

ol MeNeNeoiolelle gag)y allis JF1uis g0 415 4 £905 SO Cllo j1jlae 9if 508 0 s S5 50 1) o Sl logai
(e pudy 0 50 Coaly @ j11; g0g,9 gdllis) Tal dbles ) jhais jlas g e ool 0 0ed Jlesl jloe

NS/Output

£ x=0 x=1
a c/0 g/0
b /0 b/0
C b/1 1
d ¢/ g/l
e d/0 g/1
f g/l c/1
g /0 a0

Y
Ll 41
F YT
Y (¥

fag aalys Sl sis glyio DYl olaad | pall 1y p) Cdl= | Jgas
v
Y
e (T
F (T

M}MQL&U,)OM}‘W&Q}UQ&W"}L"@P?

-FA

~=F9



Wi 3 il )15 590 3T (s Sl g S iand

W dmien (AYYYS)  ygemall (g lons
gyl i3 50 1) olie daliyy asled sl
A B C D
load R,,(R;+100) | load R;,(R,+100) | load R;,(R;+100) | load R;,(R; +100)
Add Ry,R, Add R,,R, Add R,,R, Add R4,R,
Sub Rq,R, Sub R,,Rs Sub R,,R, Sub R,,R;
Add R¢,R, Add Rg,R, Add R,,R, Add R;,R;

AT ) Tagk @iy (G0 Jies Sl il @l Sl b saijly Sy gy 12 Oy 0wy phs
(AJd R R, s R, « (R))+(R;) - )t s1.OP R\,R, =R; «(R,)OP(R;)

D Cq B A

lod 5 sslinal oijh ool dlidle Sl g1y BK s & dlidls glaiSals 1 g ains Ajs e AgA A stijlo g o o0l byl
Cosd piTh A g Ag A byhs b alibls gjluty Sy g (stride=3) 3 ol alolill didls | Jiyio claails 4 s jiss )0 &
ol yoii> High-order o jpe 4 sudid p o p didle olojla & abible slajlar cpl 33 s 2 il gl

3 (¥ 6 (v 5:5.0x 5.33 )

s ol 33 g co e S 19 bawgi o iowd 30 aliblor glad g o 24 Langi b 0] (ldd g 3lme il piumnns S 5
Bl i o 7 1 ol bl 35 Ty Sliad g 5 jlome alibler 35 dmios Slaad ool 8 KW Jol amio 8

64 , 4096 (¥ 128 , 4096 (v 64 , 2048 (v 128 , 2048 ¢

Ay Cousl il B3gbg by by (32 i) goue jlada Mgl o0 00u50 A 3T Sijge 42 3Ll jase sl Fgupels Sy o

3 i
258 ¢ (2xb;, —I}RE (b; x 3=ty

=l
2 24
E= Y (2" xb)
i=24
Tl piiz  pailad Bl | piie S0 o 252 9T 3 s S0 [ SR 9T (G308 Hlide
-—EH,E_H (F 251 _'_2175'2-1'6 ¥ _ITS’E-TE o _151}2—54 0

50 s )55 (5l S a1 ool glita g o5 dnr 14 g JUSil aner 100 (hyls Jloud g S5 g Flelos Oyly
92y 4 daliy 1) pm 33 iyl po Cuy Wiy Sl gl BBl 1 olil Sl yonwd 5y 180 Jalds Jjoi5 asly aalipy 9 sl sue
390 g0

180 x 42 bits (f 180 = 43 bits (v 180 x 44 bits (v 180 x 45 bits (\

b g bl axihs jlo adlpl 4 4 Cubad Jas 3 aslyil 10 & gas Jos a5l 53 & Add & Shift fig) & oo 008 06 5 3
0351 i lej yoiz uiligli o p 0110 X 1011 iyl plovil itin s o plail Jlgze Clock g2 55 il 3 o Slolas &51 5
70 (f 56 (v 46 (v 40 (v

M}MQUU,)OM}'WL&)UQ"W‘,)L"@??

=Y

=¥T

-¥T

-¥&

-Y$



: o of (il s c9g0 3T % el g S
\F asmiie PUC L SL ] SLNC e L bl N{\T\W-ﬁjd.ol:',

el ;_,i._..g‘.]:-ﬁﬂ_:}nfhf h.u’i'#hh-un-,_p- s |H|J.F,J.||.l1:-l_:|}hﬂd-_l Bgﬁ ey 5.:&.‘1',;1.,.:;,1: =YY
int x=10; “itialization™

int y ={);
process A process B
while (x == 0) {do nothing}; printf(“b™); -
printf(*a”); x=1 ’ d
y=1; while (y ==0) {do nothing}; e
y=10; printf(*c”);
printf(“d”); paCok™
y=4
badc (¥ adbe ()
LI ‘,.Li.‘.&[id [ an{.tﬁd },bﬂdﬂ (t bead (v

ShE pruesws alidls 3 udl <yl 256 demond paging S b il didle Sy pos ) gatecw ;2 amie boojluil 45 ) pA L -YA
b g pal 53 ctineds ouliiaad (al5]) basls glp Rud QB 92 g oF lpy axiw slaclB’l S o J8b (I Ll j2) ande S 3
Sz (Word) wals po aF ol o33 b) Tud salys amivo slas wizr jlard ) delipraadad ol Cualys il s FIFO (2o 351 o 5951
(il o o 1y 39 Olonin 1 i baid ol il g 30,8 cad 04ud Al 0 reg iDL i 5l o lb s s pdad) (S Cul
A: Array [1..64][1..64] of word;
for reginti=1 to 64 do
forregintj=1 to 64 do
Ali]li]=0;
4096 (¥ 65 (v 64 (v 16 (1
Pl ool Sjlee plas V4
st Sl 1 (glmsly iy litia oly gsy, 5 S ol (PrOCESS) wssl3 S o Jule (slapiomems 3 ()
= (Process context switch) sazl s ome Jaige gai ) alflas a1 40 4 alaa (thread) z g0 fode Simdpn Jos (¥
bt S0 4 CPU 5 (time sharing) ij 51,281  ,22os (MUItiprogramming) wsiadsy s gdow S8 L
loygn 8 (o ok Doype by s g Sl
g ol a8 o] e (BXL) 2y Sl ozl o]y a8llal i 00 sl 3 S0 by e (Thread) & 81 Jule paes ja (F
3,05 Dgr g amd sl | 2]
oy b (Round-Robin) 25 52 guiale) pi a8l Baigi piee o3 53 giiaplej oolel 0 alind jo Py 9 Py sl pd s ass (53 -A
WS 5 TS 4 g sl Wil 3 51 s b a5 ol o B b il =2 Jlaj
L5 iyt gloj b Tip 8605 lpal plo b Ty g c Py il b
25121 plej b Tyy 2.5 gl ples b Ty &: Py wial
(LCFS: Last-Come First-Served) Preemptive LCFS (thread-Level ojypo &) aul @, o0 g guugle) psa il 551
3ty i 43 sl 3 Tl @ SLET i) 3 Gila unly S0 51 ey AT ol a9 86 g o] sty BT aliad 30wl o ol & 9wl
331 il (ool oy o 57 as Py g Py slaussl 3 slazu (turnaround time) Jeolf ojlej buwgse waigd
4.25,4.25 (¥ 4,35 35,47 6.75,4.75 (\

M}MQUU,)OM}'WL&)UQ"W‘,)L"@??



	00
	ACDSee PDF Image.



